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QUESTION 1

Which type of engagement does a business architect pursue? 

A. solutions to drive measurable business impact to the business 

B. IT operations transformation engagements 

C. large, complex, data-center architecture engagements 

D. multidomain technology architecture engagements 

Correct Answer: A 

 

QUESTION 2

Which two real world examples for an external business influence are true? (Choose two.) 

A. A bank has decided to invest in a new business solution for retail banking. 

B. A state health department has mandated the use of closed-loop medication administration to all state hospitals. 

C. A manufacturer is streamlining current manual processes in the warehouse for automation purposes. 

D. The CMO has indicated they should develop new business capabilities for their Business Delivery Services
department. 

E. A bricks and mortar retailer is introducing their online retail capability to compete with online rivals. 

Correct Answer: DE 

 

QUESTION 3

Which tool should contain a consideration of the technology investment for a project? 

A. business capabilities 

B. business motivation model 

C. business priorities 

D. business proposal 

Correct Answer: D 

 

QUESTION 4

Which tool helps you to reduce the complexity and costs of implementing a full ITSM capability? 
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A. lean consumption model 

B. business process mapping 

C. job mapping 

D. lean service blueprint 

Correct Answer: A 

 

QUESTION 5

You are contacting a stakeholder who has a high level of power but has little interest or support for the project. Which
type of engagement is recommended? 

A. Persuade the stakeholder. 

B. Show consideration to the stakeholder. 

C. Engage and consult the stakeholder regularly. 

D. Meet the needs of the stakeholder. 

Correct Answer: D 
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